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1. (a) Write
V24
as the product
2PV
where p and ¢ are both primes numbers, with p < q.
Solution
Now,
V24 = V4 x2x3
= VA xV2x /3
=223
(b) Expand
(a+b+c)
Solution
Well,

a a +ab +ac
+b | +ab +b*> +be
+c | +ac +bc +c?

SO
(a+b+c)* =a®+b>+ c® + 2ab + 2ac + 2be.




(c) Writing

10 =2+ 3+ 5,
or otherwise, simplify
\/10+@+VZO+@.
Solution
Well,
\/E:\/ZLXQX 5
= VA xV2x+5
=2v2+5
and
\/@z\/4><3>< 5
— V4 xV3xV5
= 2+/3/5.
Now,
\/10+\/ﬂ+\/@+\/@

= \/2+3+5+2\/§\/§+2\/§\/5+2\/§\/5
leta=\/§,b=\/§,andc=\/g.

Then a? = 2, b* = 3, and ¢? = 5:

= Va2 + b+ 2+ 2ab + 2ac + 2bc
= (a+b+c)?
= a+b+c

asa+b+c¢c>0

= V2+V3+45.




